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1 G001 BLUME—ARER AR — =
2 G002 BUTE—ARER BRib 59.00 o
3 G002 BLUME—ARER X3 49.00 o
4 G002 BUME—ARER Z=—iR 43.00 o
5 G002 BUTE—ARER g 40.14 o
6 G002 BUME—ARER At 35.00 o
7 G002 BUTE—ARER TEE 33.00 o
8 G002 BUTE—ARER SFEE 26.00 s
9 G002 BUTE—ARER PRz 26.00 o
10 G002 BlLUmE—ARERR #=BE 20.00 %=
11 G002 BUTE—ARER E-S38 0 20.00 %=
12 G002 BUTE—ARER Bzt 19.50 %=
13 G002 BUTE—ARER FNTHE 15.00 %=
14 G002 BUmE—ARER F 1547 15.00 =
15 G002 BUmE—ARER A 3 3 14.00 =
16 G002 BUME—ARER NG 11.31 =
17 G002 BUmE—ARER wi¥ 10.00 =
18 G004 BUME—ARER MRz 49.00 =
19 G004 BlLUMmE—ARER PR EE 44.00 s
20 G004 BUME—ARER REPE 40.00 =
21 G004 BUmE—ARER EZARGH 34.00 =
22 G004 BUmE—ARER fmk Rk 33.50 =
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23 G004 BUMmE—ARER B 33.00 =
24 G004 BUTE—ARER RER 33.00 =
25 G004 BUME—ARER HH X 30.00 =
26 G004 BUME—ARER ERH 29.00 =
27 G004 BUME—ARER EFEH 26.00 =
28 G004 BUME—ARER Pt 26.00 y
29 G004 BUME—ARER FEWE 24.00 =
30 G004 BUME—ARER gy 21.00 =
31 G004 BUTE—ARER A 20.00 =
32 G004 BUME—ARER FE 8.00 =
33 G004 BUME—ARER SKAR 4.00 =
34 G005 BUME—ARER RUJES — =
35 G006 BUTE—ARER Mrit = — y
36 G006 BUTE—-ARER Br — s
37 G006 BUTE—-ARER S — s
38 G007 BUTE—-ARER pUR S — =
39 G008 BUMmE—ARER MEE — s
40 G009 BUTE—-ARER SKZEE — s
41 G012 BUTE—-ARER R — =
42 G012 BUmE-ARER BHEE — s
43 G012 BUTE—ARER FEFRNE — s
44 G012 BUTE—ARER SeiER — =
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45 G012 BUMmE—ARER FR= — =
46 G012 BUMmE—ARER X & R — =
47 G012 BUME—ARER RIFE — y
48 G012 BUME—ARER 5 — y
49 G013 BUME—ARER HRE — y
50 G013 BUME—ARER X 516 — y
51 G014 BUME—ARER SIvES — y
52 G015 BUME—ARER TRIRHE — y
53 G015 BUME—ARER 5K — y
54 G016 BUME—ARER By — =
55 G017 BUTE—ARER ER= — y
56 G017 BUTE—ARER RUES) — =
57 G017 BUTE—ARER AL — =
58 G017 BUMmE—ARER L — s
59 G017 BUTE—-ARER KA — =
60 G018 BUTE—-ARER EVN — s
61 G018 BUTE—ARER Ri& — s
62 G020 BUTE—-ARER EARR — =
63 G020 BUMmE—ARER REEIE — s
64 G021 BUTE—ARER EEa — s
65 G021 BUTE—ARER IR — s
66 G021 BUTE—ARER HE¥ — =
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67 G021 BUMmE—ARER SKAT — ye
68 G021 BUMmE—ARER KR — =
69 G021 BUME—ARER SRR — =
70 G022 BUME—ARER BBt — y
71 G023 BUTE—ARER Bk XK — =
72 G023 BUME—ARER EHEHS — =
73 G023 BUTE—ARER 5K — =
74 G024 BUME—ARER BF R — y
75 G024 BUME—ARER EEE — y
76 G024 BUTE—ARER HEZR — =
77 G024 BUTE—ARER BT E — =
78 G025 BUME—ARER =55 — y
79 G025 BUME—ARER B g — y
80 G027 BUMmE—ARER BRALAE — s
81 G029 BUTE—-ARER ERHK — =
82 G030 BUTE—-ARER Ef 4 — =
83 G031 BUMmE—ARER W — s
84 G031 BUTE—ARER REE — =
85 G032 BUTE—-ARER 4EE — s
86 G032 BUTE—ARER ESVS — =
87 G032 BUMmE—ARER HEHAT — s
88 G033 BUMmE—ARER BEE — =
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89 G034 BUMmE—ARER E-i — ye
90 G034 BUMmE—ARER FEIE — =
91 G034 BUME—ARER B — y
92 G034 BUME—ARER FE — =
93 G034 BUME—ARER SEH — y
94 G034 BUME—ARER 2L — y
95 G039 BUME—ARER TEE — =
96 G039 BUTE—ARER A — y
97 G040 BUTE—ARER SRR — y
98 G040 BUME—ARER pUpey — y
99 G041 BUTE—ARER G| — =
100 G042 BUME—ARER RS — =
101 G042 BUTE—ARER BEE — =
102 G043 BUMmE—ARER 2R — =
103 G043 BUMmE—ARER s — =
104 G043 BUTE—-ARER RineE — =
105 G043 BUTE—-ARER O — =
106 G043 BUTE—-ARER KEHE — =
107 G043 BUTE—-ARER REgHE — =
108 G044 BUMmE—ARER EFaEL — =
109 G044 BUTE—ARER RE — s
110 G044 BUMmE—ARER B#han — s




